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e : ) 39 U U3 A @a 30 A &1 i we afvard €
(i) U7 AT 1 ¥ 8 T 3 g ST U B IR UG 1 3P BT 2 |
(iii) YT HET 9 ¥ 18 AP ofg IuNg U € IR UAP 2 3fh T ¢ |
(iv) U9 H®&AT 19 ¥ 27 TF A Y SR U € iR UAD 3 3 BT 2|
(V) T YT 28 W 30 O QY SR U B AR UAP 5 3P BT B |
(vi) A 3Maede & o, AT ERU BT TR—ART FR [ 8 | Bergeie) BT TN aifd B |
(vii) T TR ¥ TR AR R 3T a0 B 19| S W T T 8 99 W G
T T DI |
Note: (i)  There are in all 30 questions in this question paper. All questlons are compulsory.
(i)  Question No. 1 to 8 are very short answer questions and carry 1 mark each.
(ii1) Question No. 9 to 18 are short answer questions and carry 2 marks each.
(iv) Question No. 19 to 27 are also short answer questions and carry 3 marks each.
(v)  Question No. 28 to 30 are long answer questions and carry 5 marks each.
(vi) Use Log tables, if necessary. Use of calculator is not allowed.
(vii) Start from the first question and proceed to the last. Do not waste time over a questlon if
you can not solve.
1. WREfe 991 grem § ? 1
What is an aerosol ?
2. K4[Fe (CN)4] H SMIRT BT ATRITBROT TR T § 7 1
What is the oxidation state of iron in K,[Fe (CN)4] ?
KIS :
3. SRR -CHmOGHwaE Mooy amo s - 1
In reaction ‘C;H:OC,Hy+4H 22 FHL, 5% + 1,0, the X ise
@ uH (i) sTEge (i) &g (v) 9=
Ethane Ethylene Butane Propane
4. 9= @1 IUPAC ™ faRay — 1
Write the [IUPAC name of the following —
CH; O CH;

CH, —Cli—€ =CH—CH,
5. FfiRad T aR$aT & dgd HA H FaRkerd oy — , 1

Arrange the following in the order of their increasing basic character —

NH; , GHsNH, D (Csz)zNH ‘, (Csz)sN

6. a1 ¥ faem a1 =t & am foafey | : 1
Write the name of two Fat soluble vitamins.

7. UM BT IS A ST | ‘ 1

Give chemical name of Teflon.
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10.

1.

12:

13.

14.

15.

16.

17.

18.

19,

AhIg™ P T ITExUT STy | - : e
Give two examples of sulpha drugs.

A BT NI foc TS H BT 2| IR SHD! BISHT & DRI B TS
4.07 x 10~ cmamaﬂ?crmsgcm*iﬁaﬁﬂmmwmwmml 2

Silver crystallises in fcc lattice. If edge length of the cell is 4.07 X 1078cm and density is
10.5 g cm™3, calculate the atomic mass of silver.

TS RdT T srewea Rid § fvg aﬁm| ' 2
Differentiate between tetrahedral void and octahedral void.
f=faRag & 9asmsy — (%) Aicorarn (@) #re—afer 1+1=2
Explain the following — Molality Mole fraction :

# 3dl (OR)
FIREH ST B 4g (TR = 40) I I H HleAHR 200 cm’ WWWlﬁmﬂ
@I ARl FId DY | 2

~ 4 g of caustic soda (molar mass = 40) is dissolved in water and solution is made to 200 cm’.

Calculate the molarity of the solution.

IS ® faga—eruees Wl fam fofay | 2
State the Faraday’s law of electrolysis.

f=fafed & solasiFe fammg foay — 1+1=2
Write down the electronic configuration of the following —

(®) cu* (@) Mn?*

SuEEA Afe qen fgd daur # R W S | 2

Clarify the differences between coordination compounds and double salts ?

gmaﬁmﬁmwmﬁwmﬁm%?wmm@mm@
HRoT AR |

Why does Trichloromethane store in dark coloured bottles ? Give reason with related reaction.

ffoiRaa &1 e i — Yox4=2
Match the following —
(@) uferar FARISS  (Allyl chloride) (i) CH,=CHCI
(@) IfTel FIRTSS  (Benzyl chloride) (). .CCL F,
(M) OIS FERIGS (Vinyl chloride) (i) CH,=CHCH,Cl
@) = (Freon) (iv) CsHsCH,CI
frforRad Igat®l & U &R & folg Uga Tharsd! o foalkay — 1+1=2
Write the monomers used for getting the following polymers —
(@) Raed (@) derrse
Glyptal Bakelite
ﬁﬂﬁqﬁﬁﬁaﬁsﬁ?ﬁa—ﬁmﬁ%ﬁ@ﬁaﬁmﬁww%?mmw
IRV Ao | 2
What are biodegradable and non-biodegradable detergents ? Give one example of each.
(@) THURTER), CTURINT eI oy e «m 8 8 2 1%

What are isotonic, hypotonic and hypertonic solutions ?
()Wﬁammqwmszwé g ufd eflex § 20°C &R 45 ¢
GebIST oIl ¥ | Fdies R & 919 &1 T SIRTT | (GeIST BT IR = 342) 1%
The osmotic pressure of a solution containing 45g of sucrose dissolved per liter of solution at
.20°C is 3.2 atm. Calculate the value of constant R. (molecular weight of sucrose = 342).
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20.

7).

22.

23.

24,

25.

26.

27.

.98

Wﬁaw%?wﬁsﬂm@aaﬁmﬁhmﬁﬁmaﬂﬂmﬁzﬁ
sfAfhaeT @ TEar 9 SRR | 3

What is secondary Battery ? Write the mechanism of recharging of lead storage battery with the
help of ¢chemical reactions.

3qdl (OR)

(@) 9® Soiagrs fawa o R AT | 1
Define Standard Electrode Potential.

(@) sFraa 9d & ford A galagis g 11 v 2
SRFRBT Zn (s) + Cu?* (aq) — > Zn?* (aq) + Cu (s) B R W+ Rrssy Tolt B
IR DI | : T
The standard electrode potential for Daniell cell is 1.1 V. Calculate the standard Gibbs energy
for the reaction Zn (s) + Cu?* (aq) —>~Zn?* (aq) + Cu (s). .

feudh ok — (@) umReRvT @) e (M fevsd wMI@  1+1+1=3

Write short notes — Emulsification Coagulation Tynadall effect
H B arell il @1 forled | 3

Draw a labelled diagram of Blast Furnance, and write down the reactions taking place in different
zones in the blast furnace during the extraction of iron.

(@) F=feiRad & Mo 4§ g9 arell e iffhanit & afiexe fifar— 2
Write the equation of chemical reactions involved in the preparation of the following -
(i) XeF, (ii) H,POs; : :

@) cl, @ RS fhar &1 RO 9arsy | 1
Give the reason for bleaching action of Cl,. S

(@) Hpaor T WiE e @i a9 € ? : 12
Why do transition elements form coloured compounds ?

(@) &P B PIF A Ted HHHT Ted TEI BEA & ? 12

Which of the ‘d’ block elements may not be regarded as the transitional elements ?
griffe, fadiad 3R qie Uedleid 9T 810 & ? @1 Bl & oY urifde, fede
3R TP Tedlsel 570K TR TH SR W yared {6y o & ? 3

What are primary, secondary and tertiary alcohol ? What happens when primary, secondary and
tertiary alcohols are passed over heated copper at 570 K ?°

et 1 il o1 reate Fewer |fed fakay — 1+1+1=3
Write the following name reactions with chemical equations —

(@) AMeTIEe (@) BHAT MRS Iffshar (M) g srfafdan

Ammonolysis Hoffmann Bromamide Reaction Coupling reaction

(%) DNA SIfeT®TI= & @1 WU & ? $96 T SUANT qa15d | 2
What is meant by DNA Fingerprinting ? Give its main uses. !

(@) drEf o FEEEse & a9 B IR | 1

Write two main functions of carbohydrates in plants.
(@) T affbar &1 a1 ReRi® fa yeR afhao ot 9 Tw=fyg 8ar & ? ww
DI | 2

How the rate constant of a reaction is related to its activation energy ? Clarify.

(@)aﬁrﬁmaﬁaﬁ%aﬁuﬁw@ﬂaﬁmlﬁﬂﬁaﬁﬁmaﬁaﬁ%awaﬁawm

(i) A B 8, () P B g ? 3
Define order of a reaction. When could order and molecularity of aea b ) b the same,
(i1) be the different ?
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29.

30.

JaT (OR)
(® )wuwaﬂ%aﬁmmﬁmaﬁ@mév231x1035ec-1%‘|§ﬁﬁfﬁﬁv—m
P GG ST BT | 2

A first order reaction has a specific reaction rate of 2.31 x 1073 sec™!. Calculate the half-life
of the reaction.

(@) v I T MWfhar & foll FHIG T T FHIGRU B FART B |

Derive the integrated rate equation for first order reaction.

() BTER Wb ERT SMHIAT & fFHI0T BT | qoi Iy | 3

Describe the manufacture of Ammonia by Haber’s Process with diagram.

w

(@) siaRTedreaT AT F1 B 8 2 U ganrl o e fHaria &l 8 h € 7 2
What are interhalogen compounds ? Why are they more reactive than halogens ?
A4l (OR)
fr=falaa & RO W FIR — 1x5=5

Give the reasons of following —
(@) S Al & gaUHG 980 B9 B B |
Noble gases have very low boiling point.
(@) F9& |{O caeHl I I A o |
Sea is the greatest source of some halogens.
(1) PH, ®T FaHTH, NH; P 37Ul HH Bial & |
PHj; has lower boiling point than NHj.
(€) SRS Tb T & Siafd Aehx Th 319 2 |
Dioxygen is a gas but sulphur a solid.

(®) oM @ favee # R Jea faasi= &1 IUINT A ¢ |

It is necessary to use a silent electrical discharge in preparation of ozone.

U B AIfd A’ § 69.77% B, 11.63% SISO IR A9 Ao g | e
BT AUIfAd THAE 86 v I8 VMG Clod AMGHG B AUARIT ol dYal U=
QT BEeIod Gehlgc & A1 IRMHG SATE I97dT & 3R AIASIHHE qRIeTor
HRAT & AT B | UG MARNGHIOT FR] TR I YIFIgd 37 IR WIS ol ol 2 |
TAF U BT TS g AH A B Furiad dxe ST | 5
An organic compound ‘A’ contains 69.77% carbon, 11.63% Hydrogen and rest Oxygen. The
molecular mass of the compound is 86. It does not reduce Tollen’s reagent but forms an addition
compound with Sodium hydrogen sulphite and gives positive Idoform test. On vigorous oxidation
it gives ethanoic acid and propanoic acid. Write the possible structure of the compound ‘A’ by
explaining every step.

34l (OR)
(@) tfcserse g BleH & q=4 H AWSHIEN TSl AWfhars &1 fbanfafer saga | 2

Give the mechanism of nucleophilic addition reactions in reference to aldehydes and ketones.
(@) fr=fofRaa srwfiraret & qof S — 2
Complete the following reactions —
COOH

CH,CH,
() KMnO, (if) SOCl,
KOH,A A g
: COOH

(M) uHRfeeRs Yeeid WuaT Ta1 & Wdfd BHfcSegs 8l oadl | RO qarsd | 1

Acetaldehyde gives aldol condensation while Formaldehyde does not. Give reason.

kkkkkok
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e () 39 UeT Uz H gt 30 yeH 2| 9 ue aifer §

Note :

(ii) Wﬂ@ﬂﬁsmﬁaﬁr@ﬁﬁaw%aﬁ?m1aﬁﬁmél

(i) 9% HEAT 9 | 18 TPH Y IANT T & R TP 2 3h Bl |

(iv) U9 AT 19 ¥ 27 TF N oY ST U ® 3R U 3 3 BT B |

(v) U G 28 W 30 TP <Y ST U & 3R UAD 5 3 B & |

(vi) I Sraeges & d, AT AR BT YA B Fhd B | Deigelex BT TN aford |

(vii) oI TR R oTRRT BN 3R o7 q% BRI A | W Y A T B 99 W G
T 7 B |

(1)  There are in all 30 questions in this question paper. All questions are compulsory.

(i)  Question No. 1 to 8 are very short answer questions and carry 1 mark each.

(i) Question No. 9 to 18 are short answer questions and carry 2 marks each.

(iv) Question No. 19 to 27 are also short answer questions and carry 3 marks each.

(v)  Question No. 28 to 30 are long answer questions and carry 5 marks each.

(vi) Use Log tables, if necessary. Use of calculator is not allowed.

(vii) Start from the first question and proceed to the last. Do not waste time over a question, if
you can not solve.

3TferenSoT /T B © 7 1

What is adsorption ?

SuFEdare™ AE K,[Cr(C,0,);] BT IUPAC M faRad | 1

Write the [IUPAC name of coordination compound K;[Cr(C,0,),].
FT BT 8 19 Wil BT ATRITHROT BNl & 2 - 1

What happens when phenol is oxidised ?

Red =1 &1 gfd s — Yortlo=1
Fill in the blanks —
(@) wrifecass & 40% faer= HEAT B |

(@) CfcsETsS! &1 U=aT R \ochwﬁqﬁaé?r __________________________________ JAMAHAT HEA B |
The conversion of aldehydes into alkanes by reduction is termedas reaction
e AfeHrss A3 &1 YA fas fava @ forg favar simar & — 1
Gabriel Phthalimide synthesis is used for preparation of —
@ 1°wWE @) 2° vHH (i) 3° T (v) T Tl
1° amine 2° amine 3° amine all of these

e ¥ few <1 el & am e | 1

Write the name of two water soluble vitamins.

PVC &T Udheldh T Bidl & ? 1
What is the monomer of PVC ? i
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10.

il

12.

13.

14.

15.

16.

7

18.

19

SaATel T BT & ? U SaTERvl wIfoig | : 1

What are antipyretic ? Give an example.

fr=farRaa ush &1 aRwifva @i — : 141=2
Explain the following —
(@) wiear ] (@) wad Iy

Schottky defect Frenkel defect

) BT NI fec Seld ¥ BT 2 AR FHH BISH & BRI B TR
4,07 X 10~8cm AT BT 10.5 g cm=3 81 AT Al] P URANGS TIHM 1 DI | 2
Silver crystallises in fcc lattice. If edge length of the cell is 407 X 107%cm and density is
10.5 g cm™3, calculate the atomic mass of silver.

fFrefRad o1 |aAsgy — (&) HielRdr (@) ured ufay faferss (@Mdgs) 1+1=2
Explain the following — Molarity Parts per million (ppm)

3[erdT (OR)
FREPH ST & 4 g @R = 40) B S § OB 200 em’ fde@s gmm Tam|
faee &1 HieRdT A HITS | 2

4 g of caustic soda (molar mass = 40) is dissolved in water and solution is made to 200 cm’.
Calculate the molarity of the solution.

BNIS & faga—erae |l e forfau | 2

State the Faraday’s law of electrolysis.

frfoRad @ golae=e fawam faRay — =2

Write down the electronic configuration of the following —
(@) crit (@) Fe?*

Hastedr 97 g @ ] 9RAMNT folag | 2
Write two limitations of the Valence Bond theory.

A= gRada &9 & — 1+1=2
How the following conversions be carried out —

(@) 39 & SEBiHa ‘ (@) Tl & FeiRIdi

Benzene to Diphenyl (b) Aniline to Chlorobenzene

@mﬁﬁﬁaﬁﬂﬁwﬂﬁa‘mﬁﬁwwﬁﬁaﬂﬁ%?w@ﬁa@mm@
HROT S |

Why does Trichloromethane store in dark coloured bottles ? Give reason with related reaction.

() dUge (CMNIfST) 95 T Bl & ° U SaTeXY WY | 1
What are thermosetting polymers ? Give one example.

(@) T &1 IS T ST | ; 1
Give chemical name of Teflon. ;

1 @ T IarEr Afed AHSIEY — 1+1=2

Describe the following with one example —

() D (@) @rer ukRerdh
Narcotics Food Preservatives

(@) B9 BT FE T $9d Aol AguAnT fARav | 5
State Henry’s law and mention its important applications. :

(@) K,SO, ® o STl faeras # are 81t oreh &1 6 a1 8T ? 1

What would be the value of Vant’s Hoff factor for a dilute solution of K,SO, in water ?
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20.

21.

22.

23.

24.

25.

26.

27.

28.

FAIS T RT 8 ? Uh ofs Gadd ol B =fonT A &1 9vie e
safshaen & derdr 3 B | 3

What is secondary Battery ? Write the mechanism of recharging of lead storage battery with the
help of chemical reactions. -
: 31204l (OR)

(®) wM® Soragrs fava o aRYIRG BRI | 1
Define Standard Electrode Potential.

(@) e 9a & ford 79 solaeis fawa 11 v 2
MABAT Zn (s) + Cu?* (aq) ——> Zn?* (aq) + Cu (s) @ TR AFS st Stt By
URBST BT | 2
The standard electrode potential for Daniell cell is 1.1 V. Calculate the standard Gibbs energy
for the reaction Zn (s) + Cu?* (aq) ——> Zn?* (aq) + Cu (s).

feuoh foRer — (@) emEs (@) <A (1) AT FHT HFAAT  A+1+1=3
Write short notes — Dialysis Coagulation Electrophoresis

AR P T UYW SR B W 9 I faRay | 5 v sres ¥ sear A e B
&1 Al &1 quig BT | e ARl § Sy | 3

Give the name and formula of two main ores of Iron. Describe the method to obtain Cast Iron from
one of its ore. Give chemical reactions also.

(@) fr=foriae sifbamel & ddfoa Imafe e fRe — 2
Write the balanced chemical equation of following reactions —
(1) Ca3 P2 & Hzo m (11) Xe F6 f 3H20‘—)

(@) SRS IS R B ? SeeRy Afkd Idgy | 1
What are interhalogen compounds ? Write with example. ;

(P) TR HHHU Ted RIT B € ? I TS A T o7 e & ? 2
What are inner transition elements ? Why are they so called ?

(@) <rFeAES 9o H ®ad 14 a1 8 2 1

Why there are only 14 elements in lanthanoid series ?

i, fgdiae T s Uodblelel ®IT Bl & ? @1 267 £ o yeifie, Rdue
3R TiRID Yepled STl KMnO, faeras & TN ¥ simefiga 53 oIy & 3

What are primary, secondary and tertiary alcohols ? What happens when primary, secondary and
teriary alcohols are oxidised using acidified KMnO,.

o= A\ aIffpans o e aHieR 9t ey — 11+1=3
Write the following name reactions with chemical equations —
(@) JAFIUEET (@) BB FSHETSS ST (M) == fafesar

Ammonolysis Hoffmann Bromamide Reaction Coupling reaction

(®) AR AT MABHR MET # IR e B | 2

Clarify the difference between fibrous and globular proteins.

(@) gfeeriers 71 8 ? | :

What is nucleotide ?

(®) e Pife @1 aifdfbar & forg o a7 TiER0 & ARy BT | 3
Derive the integrated rate equation of first order reaction.
(@) e sfafdhar & emfawar g wife & fave @iy | j 2
Differentiate between molecularity and order of a chemical reaction.
314l (OR)
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29,

30.

(@) U® UM dife AMWfhar 60 e H 75% qoi BT & | 59 fAfshar &1 ard—ammy sd
BT | 3
A first order reaction is 75% complete in 60 minute. Find the half-life of this reaction.

(@) AfAfear @ I quT AfHAT Holl W SERS BT Y41 FHY | 2
Explain the effect of catalyst on rate of reaction and activation energy.

(@) TSR UhH §RT NH; & ScUTe &1 Afod guie HIfoT | 3
Describe the manufacture of NH; by Haber’s process with diagram.

@) ot 18 & TA B SHE G D AW W N A AT 2 ? S 4 B
FGUIH 980 HH FT B © 7 2
Why are the elements of Group 18 known as noble gases ? Noble gases have very low
boiling point. Why ? :

34T (OR)

Afoiad & SR We S — 1x5=5

Give the reasons of following —

(@) PH; BT dad NH; &7 3Uell HH Il 2 |
PH; has lower boiling point than NH;.

(@) H,0T& &9 B AR H,S T&H 4 |
H,O is a liquid and H,S a gas.

(M) Eifera® B MAERT B SUBRN H SYANT fHar SIram 2|
Helium is used in diving apparatus.

(&) SEARSISH A & g IR HH fharid 2|
Dinitrogen is less reactive at room temperature.

(®) LY ICI % frareha 2|
ICl is more reactive than I,. v

(@) sy f& T THIcicsess Ucsial 9o <dl & 9didh Bifceslgs el ? 1
Explain that why acetaldehyde gives aldel condensation while formaldehyde does not ?

@) ®I IRABAH &1 TRUT H fFd THR | T Bl — 2
How will you bring about the following conversions in not more than two steps —

@) o | aaE (i) SIS 3T H Tifoseigs
Propanone to Propene Benzoic acid to Benzaldehyde

(M) FEHT TE B ERET DI GASE | 2
Explain the structure of Carbonyl group.

Jrdr (OR)

Th PHEAG ARE A H 69.77% BIEA, 1163% BISsloE 3R AT RIS
2| AT &1 NUIfad g 86 B | UE AT <o SIfNEGHG &I JUAfyd w8l

CHRAT WR] AISTH EISgioi dehlsc @ AR ANAG SdTE g9l B 3IR

TSIHE Tefor ¥ GRTdT ¥ a7 2 | U9 JMRTBRY R TR I8 UIHISH I+
3R MUHTSH 3F AT B | TS UG DI FHsNd g AMTH A’ &) |9Ifaa d=a
QIfSTY | 5

An organic compound ‘A’ contains 69.77% carbon, 11.63% Hydrogen and rest Oxygen. The
molecular mass of the compound is 86. It does not reduce Tollen’s reagent but forms an
addition compound with Sodium hydrogen sulphite and gives positive Idoform test. On
vigorous oxidation it gives ethanoic acid and propanoic acid. Write the possible structure of
the compound ‘A’ by explaining every step.

ks skokoskok
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